

Soustraction de fractions

Séance 106

Complète les égalités en t'aidant du matériel.

$\frac{3}{6} - \frac{1}{6} = \frac{\dots}{\dots}$	$\frac{7}{8} - \frac{4}{8} = \frac{\dots}{\dots}$
$\frac{8}{10} - \frac{5}{10} = \frac{\dots}{\dots}$	$\frac{7}{12} - \frac{4}{12} = \frac{\dots}{\dots}$
$\frac{5}{6} - \frac{1}{3} = \frac{\dots}{\dots}$	$\frac{5}{10} - \frac{2}{5} = \frac{\dots}{\dots}$
$\frac{2}{3} - \frac{3}{12} = \frac{\dots}{\dots}$	$\frac{7}{8} - \frac{3}{4} = \frac{\dots}{\dots}$
$1 - \frac{2}{5} = \frac{\dots}{5}$	$1 - \frac{2}{6} = \frac{\dots}{6}$
$1 - \frac{7}{10} = \frac{\dots}{\dots}$	$1 - \frac{9}{12} = \frac{\dots}{\dots}$

Soustraction de fractions

Séance 106

Complète les égalités en t'aidant du matériel.

$\frac{3}{6} - \frac{1}{6} = \frac{\dots}{\dots}$	$\frac{7}{8} - \frac{4}{8} = \frac{\dots}{\dots}$
$\frac{8}{10} - \frac{5}{10} = \frac{\dots}{\dots}$	$\frac{7}{12} - \frac{4}{12} = \frac{\dots}{\dots}$
$\frac{5}{6} - \frac{1}{3} = \frac{\dots}{\dots}$	$\frac{5}{10} - \frac{2}{5} = \frac{\dots}{\dots}$
$\frac{2}{3} - \frac{3}{12} = \frac{\dots}{\dots}$	$\frac{7}{8} - \frac{3}{4} = \frac{\dots}{\dots}$
$1 - \frac{2}{5} = \frac{\dots}{5}$	$1 - \frac{2}{6} = \frac{\dots}{6}$
$1 - \frac{7}{10} = \frac{\dots}{\dots}$	$1 - \frac{9}{12} = \frac{\dots}{\dots}$